112# £ F > A EHEHL 2RR2 =

=> R9Y

#1: 5 BRIGEIR(223.23) #2: 6 HXEQ01.46) #3: 8 THER LS

R (197.04)

1 NS: Pdst $8{-88(GH0) 0 10 NS: ZBI75] SH#E(BAC) -1 VP:| 11.27 : 8.73 | Total VP: 158.45 Rank:
EW: MiEIEY FiksfEEAC) 1 EW: £ 52 sRBFH%(B0) 0 IMP:| 9 : 6 8
# 17 # J6543 3NS-2-100 Mean: 3NS3 400 70 1 |[#18 » KQ862 2SN2 110 Mean: 3CW-3 150 2.0 1
v 74 2SN2110 90  3CXE-2 300 50 1 v AJ97 1SN3 140 100  2SN3 140 1.0 4
+ KQ854 Dif: -210 NS:-5 3DN4 130 1.0 1 + A Dif: -30 NS:0 1SN3 140 10 1
»4 IMP: -5 EW:-1 2SS2 110 1.0 2 » 982 IMP: -1 EW:-1  2SN2 110 00 2
» Q987 a KT 2SN2 110 1.0 2 ||a T9 » A754 1NE-2 100 00 1
v KT3 v J852 3NS-2 4100 -50 2 ||v QT6 I v 852 2SN-1 100 -5.0 1
¢T3 * A72 3NS-3 150 6.0 1 ||e KT75 ¢ 843
& 9653 » KQ82 » KQT7 & A43
®IVAN 4 A2 o ¢VABN 4,J3
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 3DS3 110 Mean: 4HXE-3 800 120 1 ||# 20 s AT2 2DW-1 100 Mean: 3NW-2 200 9.0 1
v J732 4HE-1100 100  3DXN3 470 9.0 1 v Q42 2HE4 -170 -200  3NE-2 200 9.0 1
+ KQ2 Dif: 10 NS:0 4HE-1 100 00 2 + KJ952 Dif: 270 NS:7  3NW-1 100 7.0 1
& 53 IMP: 0 EW:0 3DS3 110 0.0 1 & 82 IMP: 7 EW:-1 2DW-1 100 70 1
o AT9832 a7 4DS-1 50 40 2 ||as 983 » KQ 2HE2 110 3.0 1
v A95 v KQT64 4DN-1 50 40 1 K9 + v 87653 2HE4 470 1.0 1
¢ 54 * A9 4DXN-1 100 -50 1 ||e A8643 *Q 5CW5 600 9.0 1
& 74 » QT862 5DXS-2 300 90 1 ||a KQJ a AT754 5CE5 600 9.0 1
o ¢VABN 465 oo VAN 4 J7654 3NW3 -600 -9.0 2
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 5DE5 -400 Mean: 6DE-1 50 9.0 1 # 22 4 532 1NE1 -90 Mean: 3NE-2 200 60 2
v 653 3NW4 -430 -370 5DE5 400 1.0 4 v QT652 1NE1-90 -20  1NE- 100 30 1
3 Dif: 30 NS:-1  3NW3 400 1.0 1 ¢ 63 Dif: 0 NS:-2 1NE1 90 20 4
» QJT873 IMP: 1 EW:2 3NW4 430 20 3 & A85 IMP: 0 EW:2 1NE2 120 -3.0 2
s AT » J984 3NW5 460  -3.0 1 || KQT9 & A76 1NE4 180 40 1
v AQ4 2 v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW3 -600 Mean: 3NW3 600 00 7 ||#24 s T972 4HS5 450 Mean: 5HXS5 650 6.0 1
v A763 3NW3 -600 -610 3NW4 630 1.0 2 v K983 4HS4 420 420 5HN5 450 1.0 1
¢ AT2 Dif: 0 NS:0 3NE5 660 -20 1 . Dif: 30 NS:1 4HS5 450 1.0 2
& 42 IMP: 0 EW:0 & AQJT5 IMP:1 EW:0 4HN5 450 1.0 1
s QT9 » K6 ~ AJB4 » KQ5 4HS4 420 0.0 3
v QT + v K985 v 54 v QT2 4HN4 420 00 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3SW-3 150 7.0 1
& AKT8 S » Q65 » 832 a4
%o ¢ VAN o A532 o oVAN 4,63
N ~~~~~ v J42 N 4~4~1 v AJ76
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~




112# £ F > A EHEHL 2RR2 =

=> R9Y

#1: 5 BRIGEIR(223.23) #2: 6 HXEQ01.46) #3: 8 THER LS

R (197.04)

2 NS: BEST HREEFEGEO) -3 3 NS: #lEF 58/ (EAC) -4 VP:| 10.86 : 9.14 | Total VP: 164.35 Rank:
EW: #e5 BIRZEEAC) 4 EW: #F{_E BRFR(BAO) 3 IMP:| 18 16 7
# 17 # J6543 3NS-3 -150 Mean: 3NS3 400 70 1 |[#18 » KQ862 2SN3 140 Mean: 3CW-3 150 2.0 1
v 74 3DN4130 90  3CXE-2 300 50 1 v AJ97 2SN3 140 100  2SN3 140 1.0 4
+ KQ854 Dif: -280 NS:-6 3DN4 130 1.0 1 + A Dif: 0 NS:1  1SN3 140 10 1
»4 IMP: -7 EW:-1 2SS2 110 1.0 2 » 982 IMP: 0 EW:-1 2SN2 110 00 2
» Q987 a KT 2SN2 110 1.0 2 ||a T9 » A754 1NE-2 100 00 1
v KT3 v J852 3NS-2 4100 -50 2 ||v QT6 I v 852 2SN-1 100 -5.0 1
¢T3 * A72 3NS-3 150 6.0 1 ||e KT75 ¢ 843
& 9653 » KQ82 » KQT7 & A43
®IVAN 4 A2 o ¢VABN 4,J3
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4HE-1 100 Mean: 4HXE-3 800 120 1 ||# 20 s AT2 3NW-1 100 Mean: 3NW-2 200 9.0 1
v J732 4DXN-1-100 100  3DXN3 470 9.0 1 v Q42 2HE2 -110 -200  3NE-2 200 9.0 1
+ KQ2 Dif: 200 NS:0 4HE-1 100 00 2 + KJ952 Dif: 210 NS:7  3NW-1 100 7.0 1
& 53 IMP: 5 EW:5 3DS3 110 0.0 1 & 82 IMP: 5 EW:-3 2DW-1 100 70 1
o AT9832 a7 4DS-1 50 40 2 ||as 983 » KQ 2HE2 110 3.0 1
v A95 v KQT64 4DN-1 50 40 1 K9 + v 87653 2HE4 470 1.0 1
¢ 54 * A9 4DXN-1 100 -50 1 ||e A8643 *Q 5CW5 600 9.0 1
& 74 » QT862 5DXS-2 300 90 1 ||a KQJ a AT754 5CE5 600 9.0 1
o ¢VABN 465 oo VAN 4 J7654 3NW3 -600 -9.0 2
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NW4 -430 Mean: 6DE-1 50 9.0 1 # 22 4 532 1NE4 -180 Mean: 3NE-2 200 60 2
v 653 3NW4 -430 -370 5DE5 400 1.0 4 v QT652 3NE-2200 -20  1NE- 100 30 1
3 Dif: 0 NS:-2 3NW3 400 1.0 1 ¢ 63 Dif: -380 NS:-4 1NE1 90 20 4
» QJT873 IMP: 0 EW:2 3NW4 430 20 3 & A85 IMP: -9 EW:-6 1NE2 120 -3.0 2
s AT » J984 3NW5 460  -3.0 1 || KQT9 & A76 1NE4 180 40 1
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2 ~1~~ v KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW3 -600 Mean: 3NW3 600 00 7 ||#24 s T972 4HN5 450 Mean: 5HXS5 650 6.0 1
v A763 3NW4 -630 -610 3NW4 630 -1.0 2 v K983 3SW-3150 420 5HN5 450 1.0 1
¢ AT2 Dif: 30 NS:0 3NE5 660 -20 1 . Dif: 300 NS:1 4HS5 450 1.0 2
& 42 IMP: 1 EW:1 & AQJT5 IMP: 7 EW:7 4HN5 450 1.0 1
s QT9 » K6 ~ AJB4 » KQ5 4HS4 420 0.0 3
v QT + v K985 v 54 v QT2 4HN4 420 00 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3SW-3 150 7.0 1
& AKT8 S » Q65 » 832 a4
%o ¢ VAN o A532 o oVAN 4,63
N ~~~~~ v J42 N 4~4~1 v AJ76
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~




112# £ F > A EHEHL 2RR2 =

=> R9Y

#1: 5 BRIGEIR(223.23) #2: 6 HXEQ01.46) #3: 8 THER LS

R (197.04)

3 NS: FENER 5% 2 REAC) -4 2 NS: BRE<F MiEF(FR0) -3 VP:| 9.14 10.86 | Total VP: 193.33 Rank:
EW: #{— & BESFR(BHO) 3 EW: B 2IzEPRAC) 4 IMP:| 16 18 4
# 17 # J6543 3NS-3150 Mean: 3NS3 400 70 1 |[#18 » KQ862 2SN3 -140 Mean: 3CW-3 150 2.0 1
74 3DN4 -130 90  3CXE-2 300 50 1 v AJ97 2SN3 -140 100  2SN3 140 1.0 4
+ KQ854 Dif: 280 NS:1  3DN4 130 1.0 1 + A Dif: 0 NS:1  1SN3 140 10 1
»4 IMP: 7 EW:6 2SS2 110 1.0 2 » 982 IMP: 0 EW:-1 2SN2 110 00 2
» Q987 a KT 2SN2 110 1.0 2 ||a T9 » A754 1NE-2 100 00 1
v KT3 v J852 3NS-2 4100 -50 2 ||v QT6 I v 852 2SN-1 100 -5.0 1
¢T3 * A72 3NS-3 150 6.0 1 ||e KT75 ¢ 843
& 9653 » KQ82 » KQT7 & A43
®IVAN 4 A2 o ¢VABN 4,J3
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4HE-1-100 Mean: 4HXE-3 800 120 1 ||# 20 s AT2 3NW-1-100 Mean: 3NW-2 200 9.0 1
v J732 4DXN-1100 100  3DXN3 470 9.0 1 v Q42 2HE2 110 -200  3NE-2 200 9.0 1
+ KQ2 Dif: -200 NS:-5 4HE-1 100 00 2 + KJ952 Dif: -210 NS:3  3NW-1 100 7.0 1
& 53 IMP: -5 EW:0 3DS3 110 0.0 1 & 82 IMP: -5 EW:-7 2DW-1 100 70 1
o AT9832 a7 4DS-1 50  -40 2 ||s 983 » KQ 2HE2 110 3.0 1
v A95 v KQT64 4DN-1 50 40 1 K9 + v 87653 2HE4 470 1.0 1
¢ 54 * A9 4DXN-1 100 -50 1 ||e A8643 *Q 5CW5 600 9.0 1
& 74 » QT862 5DXS-2 300 90 1 ||a KQJ a AT754 5CE5 600 9.0 1
o ¢VABN 465 oo VAN 4 J7654 3NW3 -600 -9.0 2
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NW4 430 Mean: 6DE-1 50 9.0 1 # 22 4 532 1NE4 180 Mean: 3NE-2 200 60 2
v 653 3NW4 430 -370 5DE5 400 1.0 4 v QT652 3NE-2-200 -20  1NE-1 100 30 1
3 Dif: 0 NS:-2 3NW3 400 1.0 1 ¢ 63 Dif: 380 NS:6 1NE1 90 20 4
& QJT873 IMP: 0 EW:2 3NW4 430 20 3 & A85 IMP: 9 EW:4 1NE2 120 -3.0 2
s AT » J984 3NW5 460  -3.0 1 || KQT9 & A76 1NE4 180 40 1
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2 ~1~~ v KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~~~~ ¢ KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW3 600 Mean: 3NW3 600 00 7 ||#24 s T972 4HN5 -450 Mean: 5HXS5 650 6.0 1
v A763 3NW4 630 -610 3NW4 630 -1.0 2 v K983 3SW-3-150 420 5HN5 450 1.0 1
¢ AT2 Dif: -30 NS:-1  3NE5 660 -20 1 . Dif: -300 NS:-7 4HS5 450 1.0 2
& 42 IMP: -1 EW:0 & AQJT5 IMP: -7 EW:-1 4HN5 450 1.0 1
s QT9 » K6 ~ AJB4 » KQ5 4HS4 420 0.0 3
v QT + v K985 v 54 v QT2 4HN4 420 00 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3SW-3 150 7.0 1
& AKT8 S » Q65 » 832 a4
%o ¢ VAN o A532 *e¢VAN 463
N ~~~~~ v J42 N 4~4~1 v AJ76
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W 34~~3 W ~3~1~




112# £ F > A EHEHL 2RR2 =

=> R9Y

#1: 5 BRIGEIR(223.23) #2: 6 HXEQ01.46) #3: 8 THER LS

R (197.04)

4 NS: BRAERE #Es(GE0) -15 5 NS: EfE 2% (BAC) -9 VP:| 9.56 10.44 | Total VP: 149.74 Rank:
EW: I8 BESEEI0) 9 EW: i#tiRiE MEHE(BO) 15 IMP:| 18 19 9
# 17 # J6543 2SS2 110 Mean: 3NS3 400 70 1 |[#18 » KQ862 2SN-1-100 Mean: 3CW-3 150 2.0 1
74 3NS-2-100 90  3CXE-2 300 50 1 v AJ97 2SN2110 100  2SN3 140 1.0 4
+ KQ854 Dif: 210 NS:1  3DN4 130 1.0 1 + A Dif: -210 NS:-5 1SN3 140 10 1
»4 IMP: 5 EW:5 2SS2 110 1.0 2 » 982 IMP: -5 EW:0 2SN2 110 00 2
» Q987 a KT 2SN2 110 1.0 2 ||a T9 » A754 1NE-2 100 00 1
v KT3 v J852 3NS-2 4100 -50 2 ||v QT6 I v 852 2SN-1 100 -5.0 1
¢T3 * A72 3NS-3 150 6.0 1 ||e KT75 ¢ 843
& 9653 » KQ82 » KQT7 & A43
®IVAN 4 A2 o ¢VABN 4,J3
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4DN-1 -50 Mean: 4HXE-3 800 120 1 ||# 20 s AT2 3NW3 -600 Mean: 3NW-2 200 9.0 1
v J732 5DXS-2 -300 100  3DXN3 470 9.0 1 v Q42 3NW-2 200 -200 3NE-2 200 9.0 1
+ KQ2 Dif: 250 NS:-4 4HE-1 100 00 2 + KJ952 Dif: -800 NS:-9 3NW-1 100 7.0 1
& 53 IMP: 6 EW:9 3DS3 110 0.0 1 & 82 IMP: -13 EW:-9 2DW-1 100 70 1
o AT9832 a7 4DS-1 50  -40 2 ||s 983 » KQ 2HE2 110 3.0 1
v A95 v KQT64 4DN-1 50 40 1 K9 + v 87653 2HE4 470 1.0 1
¢ 54 * A9 4DXN-1 100 -50 1 ||e A8643 *Q 5CW5 600 9.0 1
& 74 » QT862 5DXS-2 300 90 1 ||a KQJ a AT754 5CE5 600 9.0 1
o ¢VABN 465 oo VAN 4 J7654 3NW3 -600 -9.0 2
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 5DE5 -400 Mean: 6DE-1 50 9.0 1 # 22 4 532 1NE2 -120 Mean: 3NE-2 200 60 2
v 653 3NW5 -460 -370 5DE5 400 1.0 4 v QT652 1NE1-90 -20  1NE-1 100 30 1
3 Dif: 60 NS:-1  3NW3 400 1.0 1 ¢ 63 Dif: -30 NS:-3 1NE1 90 20 4
» QJT873 IMP: 2 EW:3 3NW4 430 20 3 & A85 IMP: -1 EW:2 1NE2 120 -3.0 2
s AT » J984 3NW5 460  -3.0 1 || KQT9 & A76 1NE4 180 40 1
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2 ~1~~ v KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~~~~ ¢ KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW3 -600 Mean: 3NW3 600 00 7 ||#24 s T972 5HXS5 650 Mean: 5HXS5 650 6.0 1
v A763 3NW3 -600 -610 3NW4 630 -1.0 2 v K983 5HN5 450 420  5HN5 450 1.0 1
¢ AT2 Dif: 0 NS:0 3NE5 660 -20 1 . Dif: 200 NS:6 4HS5 450 1.0 2
& 42 IMP: 0 EW:0 & AQJT5 IMP: 5 EW:-1 4HN5 450 1.0 1
s QT9 » K6 ~ AJB4 » KQ5 4HS4 420 0.0 3
v QT + v K985 v 54 v QT2 4HN4 420 00 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3SW-3 150 7.0 1
& AKT8 S » Q65 » 832 a4
%o ¢ VAN o A532 *e¢VAN 463
N ~~~~~ v J42 N 4~4~1 v AJ76
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W 34~~3 W ~3~1~




112# £ F > A EHEHL 2RR2 =

=> R9Y

#1: 5 BRIGEIR(223.23) #2: 6 HXEQ01.46) #3: 8 THER LS

R (197.04)

5 NS: BE45E 2 ZEAC) 9 4 NS: FRIERE FE1E3%(BAO) -14 VP:| 10.44 : 9.56 | Total VP: 223.23 Rank:
EW: MR #EZEEHO) 15 EW: iti#E# #ImsE(BAC) 9 IMP:| 19 18 1
# 17 # J6543 2SS2 -110 Mean: 3NS3 400 70 1 |[#18 » KQ862 2SN-1100 Mean: 3CW-3 150 2.0 1
74 3NS-2100 90  3CXE-2 300 50 1 v AJ97 2SN2 -110 100  2SN3 140 1.0 4
+ KQ854 Dif: -210 NS:-5 3DN4 130 1.0 1 + A Dif: 210 NS:0 1SN3 140 10 1
»4 IMP: -5 EW:-1 2SS2 110 1.0 2 » 982 IMP: 5 EW:5 2SN2 110 00 2
» Q987 a KT 2SN2 110 1.0 2 ||a T9 » A754 1NE-2 100 00 1
v KT3 v J852 3NS-2 4100 -50 2 ||v QT6 I v 852 2SN-1 100 -5.0 1
¢T3 * A72 3NS-3 150 6.0 1 ||e KT75 ¢ 843
& 9653 » KQ82 » KQT7 & A43
®IVAN 4 A2 o ¢VABN 4,J3
N ~3~21 v AQ9% N ~~331 v K43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ &AJT7 E ~~~~~ & J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4DN-1 50 Mean: 4HXE-3 800 120 1 ||# 20 s AT2 3NW3 600 Mean: 3NW-2 200 9.0 1
v J732 5DXS-2 300 100  3DXN3 470 9.0 1 v Q42 3NW-2 -200 -200 3NE-2 200 9.0 1
+ KQ2 Dif: -250 NS:-9 4HE-1 100 00 2 + KJ952 Dif: 800 NS:9 3NW-1 100 7.0 1
& 53 IMP: -6 EW:4 3DS3 110 0.0 1 & 82 IMP: 13 EW:9 2DW-1 100 70 1
o AT9832 a7 4DS-1 50 40 2 ||as 983 » KQ 2HE2 110 3.0 1
v A95 v KQT64 4DN-1 50 40 1 K9 + v 87653 2HE4 470 1.0 1
¢ 54 * A9 4DXN-1 100 -50 1 ||e A8643 *Q 5CW5 600 9.0 1
& 74 » QT862 5DXS-2 300 90 1 ||a KQJ a AT754 5CE5 600 9.0 1
o ¢VABN 465 oo VAN 4 J7654 3NW3 -600 -9.0 2
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 5DE5 400 Mean: 6DE-1 50 9.0 1 # 22 4 532 1NE2 120 Mean: 3NE-2 200 60 2
v 653 3NW5460 -370 5DE5 400 1.0 4 v QT652 1NE190 -20  1NE-1 100 30 1
3 Dif: -60 NS:-3 3NW3 400 1.0 1 ¢ 63 Dif: 30 NS:-2 1NE1 90 20 4
» QJT873 IMP: -2 EW:1  3NW4 430 20 3 & A85 IMP: 1 EW:3 1NE2 120 -3.0 2
s AT » J984 3NW5 460  -3.0 1 || KQT9 & A76 1NE4 180 40 1
v AQ4 2 v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW3 600 Mean: 3NW3 600 00 7 ||#24 s T972 5HXS5 -650 Mean: 5HXS5 650 6.0 1
v A763 3NW3 600 -610 3NW4 630 -1.0 2 v K983 5HN5 -450 420  5HN5 450 1.0 1
¢ AT2 Dif: 0 NS:0 3NE5 660 -20 1 . Dif: -200 NS:1 4HS5 450 1.0 2
& 42 IMP: 0 EW:0 & AQJT5 IMP: -5 EW:-6 4HN5 450 1.0 1
s QT9 » K6 ~ AJB4 » KQ5 4HS4 420 0.0 3
v QT + v K985 v 54 v QT2 4HN4 420 00 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3SW-3 150 7.0 1
& AKT8 S » Q65 » 832 a4
%o ¢ VAN o A532 o oVAN 4,63
N ~~~~~ v J42 N 4~4~1 v AJ76
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~




112# £ F > A EHEHL 2RR2 =

=> R9Y

#1: 5 BRIGEIR(223.23) #2: 6 HXEQ01.46) #3: 8 THER LS

R (197.04)

6 NS: BRzE#E IR B (GHO) 16 7 NS: 21555 Bt 4(BAC) 16 VP:| 14.09 : 5.91 Total VP: 201.46 Rank:
EW: #F5Et #RraEEA0) -16 EW: 255 BEE(BRO) -1 IMP:| 26 15 2
# 17 # J6543 3NS3 400 Mean: 3NS3 400 70 1 |[#18 » KQ862 2SN3 140 Mean: 3CW-3 150 2.0 1
v 74 2SS2110 90  3CXE-2 300 50 1 v AJ97 2SN3 140 100  2SN3 140 1.0 4
+ KQ854 Dif: 290 NS:7 3DN4 130 1.0 1 + A Dif: 0 NS:1  1SN3 140 10 1
»4 IMP: 7 EW:-1 2SS2 110 1.0 2 » 982 IMP: 0 EW:-1 2SN2 110 00 2
» Q987 a KT 2SN2 110 1.0 2 ||a T9 » A754 1NE-2 100 00 1
v KT3 v J852 3NS-2 4100 -50 2 ||v QT6 I v 852 2SN-1 100 -5.0 1
¢T3 * A72 3NS-3 150 6.0 1 ||e KT75 ¢ 843
& 9653 » KQ82 » KQT7 & A43
®IVAN 4 A2 o ¢VABN 4,J3
N ~3~21 v AQ9% N ~~331 v K43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ &AJT7 E ~~~~~ & J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4HXE-3 800 Mean: 4HXE-3 800 120 1 ||# 20 s AT2 3NW3 -600 Mean: 3NW-2 200 9.0 1
v J732 3DXN3 470 100  3DXN3 470 9.0 1 v Q42 3NE-2 200 -200 3NE-2 200 9.0 1
+ KQ2 Dif: 330 NS:12 4HE-1 100 00 2 + KJ952 Dif: -800 NS:-9 3NW-1 100 7.0 1
& 53 IMP: 8 EW:9 3DS3 110 0.0 1 & 82 IMP: -13 EW:-9 2DW-1 100 70 1
o AT9832 a7 4DS-1 50 40 2 ||as 983 » KQ 2HE2 110 3.0 1
v A95 v KQT64 4DN-1 50 40 1 K9 + v 87653 2HE4 470 1.0 1
¢ 54 * A9 4DXN-1 100 -50 1 ||e A8643 *Q 5CW5 600 9.0 1
& 74 » QT862 5DXS-2 300 90 1 ||a KQJ a AT754 5CE5 600 9.0 1
o ¢VABN 465 oo VAN 4 J7654 3NW3 -600 -9.0 2
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 6DE-150 Mean: 6DE-1 50 9.0 1 # 22 4 532 1NE2 -120 Mean: 3NE-2 200 60 2
v 653 5DE5 -400 -370  5DE5 400 1.0 4 v QT652 1NE1-90 -20  1NE-1 100 30 1
3 Dif: 450 NS:9 3NW3 400 1.0 1 ¢ 63 Dif: -30 NS:-3 1NE1 90 20 4
» QJT873 IMP: 10 EW:1  3NW4 430 20 3 & A85 IMP: -1 EW:2 1NE2 120 -3.0 2
s AT » J984 3NW5 460  -3.0 1 || KQT9 & A76 1NE4 180 40 1
v AQ4 v2 v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW4 -630 Mean: 3NW3 600 00 7 ||#24 s T972 4HN4 420 Mean: 5HXS5 650 6.0 1
v A763 3NE5 -660 -610  3NW4 630 1.0 2 v K983 4HS5450 420 5HN5 450 1.0 1
¢ AT2 Dif: 30 NS:-1  3NE5 660 -20 1 . Dif: -30 NS:0 4HS5 450 1.0 2
& 42 IMP: 1 EW:2 & AQJT5 IMP: -1 EW:-1 4HN5 450 1.0 1
s QT9 » K6 ~ AJB4 » KQ5 4HS4 420 0.0 3
v QT + v K985 v 54 v QT2 4HN4 420 00 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3SW-3 150 7.0 1
& AKT8 S » Q65 » 832 a4
%o ¢ VAN o A532 o oVAN 4,63
N ~~~~~ v J42 N 4~4~1 v AJ76
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~




112# £ F > A EHEHL 2RR2 =

=> R9Y

#1: 5 BRIGEIR(223.23) #2: 6 HXEQ01.46) #3: 8 THER LS

R (197.04)

7 NS: SA52% BRiE&L(EAC) 16 6 NS: BREEZE 3 2(BAO) 16| VP:| 5.91 14.09 | Total VP: 190.76 Rank:
EW: 27 SEEE5EE0) -16 EW: ¥ 518 #&MiE(BAC) 1 IMP:| 15 26 5
# 17 # J6543 3NS3 -400 Mean: 3NS3 400 70 1 |[#18 » KQ862 2SN3 -140 Mean: 3CW-3 150 2.0 1
74 2SS2-110 90  3CXE-2 300 50 1 v AJ97 2SN3 -140 100  2SN3 140 1.0 4
+ KQ854 Dif: -290 NS:1  3DN4 130 1.0 1 + A Dif: 0 NS:1  1SN3 140 10 1
»4 IMP: -7 EW:-7 2SS2 110 1.0 2 » 982 IMP: 0 EW:-1 2SN2 110 00 2
» Q987 a KT 2SN2 110 1.0 2 ||a T9 » A754 1NE-2 100 00 1
v KT3 v J852 3NS-2 4100 -50 2 ||v QT6 I v 852 2SN-1 100 -5.0 1
¢T3 * A72 3NS-3 150 6.0 1 ||e KT75 ¢ 843
& 9653 » KQ82 » KQT7 & A43
®IVAN 4 A2 o ¢VABN 4,J3
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4HXE-3 -800 Mean: 4HXE-3 800 120 1 ||# 20 s AT2 3NW3 600 Mean: 3NW-2 200 9.0 1
v J732 3DXN3 -470 100  3DXN3 470 9.0 1 v Q42 3NE-2 -200 -200 3NE-2 200 9.0 1
+ KQ2 Dif: -330 NS:9 4HE-1 100 00 2 + KJ952 Dif: 800 NS:9 3NW-1 100 7.0 1
& 53 IMP: -8 EW:-12 3DS3 110 0.0 1 & 82 IMP: 13 EW:9 2DW-1 100 70 1
o AT9832 a7 4DS-1 50  -40 2 ||s 983 » KQ 2HE2 110 3.0 1
v A95 v KQT64 4DN-1 50 40 1 K9 + v 87653 2HE4 470 1.0 1
¢ 54 * A9 4DXN-1 100 -50 1 ||e A8643 *Q 5CW5 600 9.0 1
& 74 » QT862 5DXS-2 300 90 1 ||a KQJ a AT754 5CE5 600 9.0 1
o ¢VABN 465 oo VAN 4 J7654 3NW3 -600 -9.0 2
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 6DE-1-50 Mean: 6DE-1 50 9.0 1 # 22 4 532 1NE2 120 Mean: 3NE-2 200 60 2
v 653 5DE5400 -370 5DE5 400 1.0 4 v QT652 1NE190 -20  1NE-1 100 30 1
3 Dif: -450 NS:-1 3NW3 400 1.0 1 ¢ 63 Dif: 30 NS:-2 1NE1 90 20 4
» QJT873 IMP: -10 EW:-9 3NW4 430 20 3 & A85 IMP: 1 EW:3 1NE2 120 -3.0 2
s AT » J984 3NW5 460  -3.0 1 || KQT9 & A76 1NE4 180 40 1
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2 ~1~~ v KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~~~~ ¢ KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW4 630 Mean: 3NW3 600 00 7 ||#24 s T972 4HN4 -420 Mean: 5HXS5 650 6.0 1
v A763 3NE5 660 -610 3NW4 630 1.0 2 v K983 4HS5 -450 420  5HN5 450 1.0 1
¢ AT2 Dif: -30 NS:-2 3NE5 660 -20 1 . Dif: 30 NS:1 4HS5 450 1.0 2
& 42 IMP: -1 EW:1 & AQJT5 IMP:1 EW:0 4HN5 450 1.0 1
s QT9 » K6 ~ AJB4 » KQ5 4HS4 420 0.0 3
v QT + v K985 v 54 v QT2 4HN4 420 00 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3SW-3 150 7.0 1
& AKT8 S » Q65 » 832 a4
%o ¢ VAN o A532 *e¢VAN 463
N ~~~~~ v J42 N 4~4~1 v AJ76
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W 34~~3 W ~3~1~




112# £ F > A EHEHL 2RR2 =

=> R9Y

#1: 5 BRIGEIR(223.23) #2: 6 HXEQ01.46) #3: 8 THER LS

R (197.04)

8 NS: Sogf4 2218EBH0) -6 9 NS: EEE EIA(EIC) -5 VP:| 10.00 : 10.00| Total VP: 197.04 Rank:
EW: &g REBEAC) 5 EW: #4818 BRiIiF(BAO) 6 IMP:| 5 : 5 3
- Y ———————————
# 17 # J6543 3CXE-2 300 Mean: 3NS3 400 7.0 1 |[#18 » KQ862 1NE-2 100 Mean: 3CW-3 150 2.0 1
74 2SN2110 90  3CXE-2 300 50 1 v AJ97 3CW-3 150 100  2SN3 140 1.0 4
+ KQ854 Dif: 190 NS:5 3DN4 130 1.0 1 + A Dif: -50 NS:0 1SN3 140 10 1
»4 IMP: 5 EW:-1 2SS2 110 1.0 2 » 982 IMP: -2 EW:-2 2SN2 110 00 2
» Q987 a KT 2SN2 110 1.0 2 ||a T9 » A754 1NE-2 100 00 1
v KT3 v J852 3NS-2 4100 -50 2 ||v QT6 I v 852 2SN-1 100 -5.0 1
¢T3 * A72 3NS-3 4150 60 1 ||e KT75 ¢ 843
& 9653 » KQ82 » KQT7 & A43
®IVAN 4 A2 o ¢VABN 4,J3
N ~3~21 v AQ9% N ~~331 v K43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4DS-1-50 Mean: 4HXE-3 800 120 1 ||# 20 s AT2 5CE5 -600 Mean: 3NW-2 200 9.0 1
v J732 4DS-1-50 100  3DXN3 470 9.0 1 v Q42 5CW5 -600 -200 3NE-2 200 9.0 1
+ KQ2 Dif: 0 NS:-4 4HE-1 100 00 2 + KJ952 Dif: 0 NS:-9 3NW-1 100 7.0 1
& 53 IMP: 0 EW:4 3DS3 110 0.0 1 & 82 IMP: 0 EW:9 2DW-1 100 70 1
o AT9832 a7 4DS-1 50  -40 2 ||s 983 » KQ 2HE2 110 3.0 1
v A95 v KQT64 4DN-1 50 40 1 K9 + v 87653 2HE4 470 1.0 1
¢ 54 * A9 4DXN-1 100 -50 1 ||e A8643 *Q 5CW5 600 9.0 1
& 74 » QT862 5DXS-2 300 90 1 ||a KQJ a AT754 5CE5 600 9.0 1
o ¢VABN 465 oo VAN 4 J7654 3NW3 -600 -9.0 2
N ~3~~~ 98 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 5DE5 -400 Mean: 6DE-1 50 9.0 1 # 22 4 532 1NE-1 100 Mean: 3NE-2 200 60 2
v 653 3NW3 -400 -370 5DE5 400 1.0 4 v QT652 3NE-2200 -20  1NE- 100 30 1
3 Dif: 0 NS:-1 3NW3 400 1.0 1 ¢ 63 Dif: 100 NS:3 1NE1 90 20 4
» QJT873 IMP: 0 EW:1 3NW4 430 20 3 & A85 IMP: -3 EW:-6 1NE2 120 -3.0 2
s AT » J984 3NW5 460  -3.0 1 || KQT9 & A76 1NE4 180 40 1
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW3 -600 Mean: 3NW3 600 00 7 ||#24 s T972 4HS4 420 Mean: 5HXS5 650 6.0 1
v A763 3NW3 -600 -610 3NW4 630 1.0 2 v K983 4HS4 420 420 5HN5 450 1.0 1
¢ AT2 Dif: 0 NS:0 3NE5 660 -20 1 . Dif: 0 NS:0 4HS5 450 1.0 2
& 42 IMP: 0 EW:0 & AQJT5 IMP: 0 EW:0 4HN5 450 1.0 1
s QT9 » K6 ~ AJB4 » KQ5 4HS4 420 0.0 3
v QT + v K985 v 54 v QT2 4HN4 420 00 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3SW-3 150 7.0 1
& AKT8 S » Q65 » 832 a4
%o ¢ VAN o A532 *e¢VAN 463
N ~~~~~ v J42 N 4~4~1 v AJ76
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W 34~~3 W ~3~1~




112# £ F > A EHEHL 2RR2 =

=> R9Y

#1: 5 BRIGEIR(223.23) #2: 6 HXEQ01.46) #3: 8 THER LS

R (197.04)

9 NS: ZEBE EIAREC) -5 8 NS: So#li4 22155 (BRO) -6 VP:| 10.00 : 10.00| Total VP: 171.61 Rank:
EW: i BRIZER(BHO) 6 EW: BRisF REBI(EIC) 5 IMP:] 5 : 5 6
- Y —————rr—
# 17 # J6543 3CXE-2 -300 Mean: 3NS3 400 70 1 # 18 » KQ862 1NE-2 -100 Mean: 3CW-3 150 20 1
74 2SN2 -110 90  3CXE-2 300 50 1 v AJ97 3CW-3-150 100  2SN3 140 1.0 4
+ KQ854 Dif: -190 NS:1  3DN4 130 1.0 1 + A Dif: 50 NS:2 1SN3 140 10 1
»4 IMP: -5 EW:-5 2SS2 110 1.0 2 » 982 IMP: 2 EW:0 2SN2 110 00 2
» Q987 » KT 2SN2 110 1.0 2 ||a T9 » A754 1NE-2 100 00 1
v KT3 v J852 3NS-2 4100 -50 2 ||v QT6 I v 852 2SN-1 100 -5.0 1
¢T3 * A72 3NS-3 4150 60 1 ||e KT75 ¢ 843
& 9653 » KQ82 » KQT7 & A43
®IVAN 4 A2 o ¢VABN 4,J3
N ~3~21 v AQ9% N ~~331 v K43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ &AJT7 E ~~~~~ & J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4DS-1 50 Mean: 4HXE-3 800 120 1 ||# 20 s AT2 5CE5 600 Mean: 3NW-2 200 9.0 1
v J732 4DS-150 100  3DXN3 470 9.0 1 v Q42 5CW5 600 -200 3NE-2 200 9.0 1
+ KQ2 Dif: 0 NS:-4 4HE-1 100 00 2 + KJ952 Dif: 0 NS:-9 3NW-1 100 7.0 1
& 53 IMP: 0 EW:4 3DS3 110 0.0 1 & 82 IMP: 0 EW:9 2DW-1 100 70 1
& AT9832 a7 4DS-1 50  -40 2 ||s 983 » KQ 2HE2 110 3.0 1
v A95 v KQT64 4DN-1 50 40 1 K9 + v 87653 2HE4 470 1.0 1
¢ 54 * A9 4DXN-1 100 -50 1 ||e A8643 *Q 5CW5 600 9.0 1
& 74 » QT862 5DXS-2 300 90 1 ||a KQJ a AT754 5CE5 600 9.0 1
o ¢VABN 465 oo VAN 4 J7654 3NW3 -600 -9.0 2
N ~3~~~ 98 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 5DE5 400 Mean: 6DE-1 50 9.0 1 # 22 4 532 ANE-1 -100 Mean: 3NE-2 200 60 2
v 653 3NW3 400 -370 5DE5 -400 1.0 4 v QT652 3NE-2 -200 -20 1NE-1 100 30 1
3 Dif: 0 NS:-1 3NW3 400 1.0 1 ¢ 63 Dif: 100 NS:6 1NE1 90 20 4
» QJT873 IMP: 0 EW:1 3NW4 430 20 3 & A85 IMP: 3 EW:-3 1NE2 120 -3.0 2
s AT » J984 3NW5 460 3.0 1 ||a KQT9 & A76 1NE4 180 40 1
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW3 600 Mean: 3NW3 600 00 7 ||#24 s T972 4HS4 -420 Mean: 5HXS5 650 6.0 1
v A763 3NW3 600 -610 3NW4 630 1.0 2 v K983 4HS4 -420 420  5HN5 450 1.0 1
¢ AT2 Dif: 0 NS:0 3NE5 660 -20 1 . Dif: 0 NS:0 4HS5 450 1.0 2
& 42 IMP: 0 EW:0 & AQJT5 IMP: 0 EW:0 4HN5 450 1.0 1
s QT9 » K6 ~ AJB4 » KQ5 4HS4 420 0.0 3
v QT + v K985 v 54 v QT2 4HN4 420 00 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3SW-3 150 7.0 1
& AKT8 S » Q65 » 832 »4
%o ¢ VAN o A532 o oVAN 4,63
N ~~~~~ v J42 N 4~4~1 v AJ76
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~




112# £ F > A EHEHL 2RR2 =

=> R9Y

#1: 5 BRIGEIR(223.23) #2: 6 HXEQ01.46) #3: 8 THER LS

R (197.04)

1 O NS: FRI7FH =OUEEAC) -1 1 NS: &R $B{ZH(FH0) 0 VP:| 8.73 11.27 | Total VP: 149.03 Rank:
EW: E 58 REHEBEIO) 0 EW: BREIE 3G (BAC) 1 IMP:| 6 9 10
# 17 # J6543 3NS-2 100 Mean: 3NS3 400 70 1 |[#18 » KQ862 2SN2 -110 Mean: 3CW-3 150 2.0 1
v 74 2SN2 -110 90  3CXE-2 300 50 1 v AJ97 1SN3 -140 100  2SN3 140 1.0 4
+ KQ854 Dif: 210 NS:1  3DN4 130 1.0 1 + A Dif: 30 NS:1 1SN3 140 10 1
»4 IMP: 5 EW:5 2SS2 10 1.0 2 » 982 IMP: 1 EW:0 2SN2 110 00 2
» Q987 a KT 2SN2 110 1.0 2 ||a T9 » A754 1NE-2 100 00 1
v KT3 v J852 3NS-2 4100 -50 2 ||v QT6 I v 852 2SN-1 100 -5.0 1
¢T3 * A72 3NS-3 150 6.0 1 ||e KT75 ¢ 843
& 9653 » KQ82 » KQT7 & A43
®IVAN 4 A2 o ¢VABN 4,J3
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 3DS3 -110 Mean: 4HXE-3 800 120 1 ||# 20 s AT2 2DW-1-100 Mean: 3NW-2 200 9.0 1
v J732 4HE-1-100 100  3DXN3 470 9.0 1 v Q42 2HE4 170 -200  3NE-2 200 9.0 1
+ KQ2 Dif: 10 NS:0 4HE-1 100 00 2 + KJ952 Dif: -270 NS:1  3NW-1 100 7.0 1
& 53 IMP: 0 EW:0 3DS3 110 0.0 1 & 82 IMP: -7 EW:-7 2DW-1 100 70 1
o AT9832 a7 4DS-1 50 40 2 ||as 983 » KQ 2HE2 110 3.0 1
v A95 v KQT64 4DN-1 50 40 1 K9 + v 87653 2HE4 470 1.0 1
¢ 54 * A9 4DXN-1 100 -50 1 ||e A8643 *Q 5CW5 600 9.0 1
& 74 » QT862 5DXS-2 300 90 1 ||a KQJ a AT754 5CE5 600 9.0 1
o ¢VABN 465 oo VAN 4 J7654 3NW3 -600 -9.0 2
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 5DE5 400 Mean: 6DE-1 50 9.0 1 # 22 4 532 1NE1 90 Mean: 3NE-2 200 60 2
v 653 3NW4 430 -370 5DE5 400 1.0 4 v QT652 1NE190 -20  1NE-1 100 30 1
3 Dif: -30 NS:-2 3NW3 400 1.0 1 ¢ 63 Dif: 0 NS:-2 1NE1 90 20 4
» QJT873 IMP: -1 EW:1  3NW4 430 20 3 & A85 IMP: 0 EW:2 1NE2 120 -3.0 2
s AT » J984 3NW5 460  -3.0 1 || KQT9 & A76 1NE4 180 40 1
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW3 600 Mean: 3NW3 600 00 7 ||#24 s T972 4HS5 -450 Mean: 5HXS5 650 6.0 1
v A763 3NW3 600 -610 3NW4 630 1.0 2 v K983 4HS4 -420 420  5HN5 450 1.0 1
¢ AT2 Dif: 0 NS:0 3NE5 660 -20 1 . Dif: -30 NS:0 4HS5 450 1.0 2
& 42 IMP: 0 EW:0 & AQJT5 IMP: -1 EW:-1 4HN5 450 1.0 1
s QT9 » K6 ~ AJB4 » KQ5 4HS4 420 0.0 3
v QT + v K985 v 54 v QT2 4HN4 420 00 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3SW-3 150 7.0 1
& AKT8 S » Q65 » 832 a4
%o ¢ VAN o A532 o oVAN 4,63
N ~~~~~ v J42 N 4~4~1 v AJ76
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~




